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Chapter- 4 

SUBTRACTION 

A a- 9560-5132 
ewrnliyg e te rencst 10,-53 0O 
u got=7560-5430-1130Y4 30 

WORKSHEET 

I. Solve: 

A. Estimate the following by rounding off to the nearest 10. 

a) 9560-5432c4230 b) 68754586-685-9596, 10.0da69 2290 

B. Estimate the foliowing by rounding off to the nearest 100, Kadug EgTe 09LET 

6830-y5IO 2290 

b)59823650-3P60-1-82 
290 

a) 3760-17822000 

C.Estimate the following by rounding off to the nearest 1000. RAuydvy B B rO0St 

1020=gd3600-1800-2000 

-182-3650 
a) 4992 4 5 59 0 b) 1855 

4000 
D. Subtract the following numbers. 

a) 6836 and 8959 2423 
get="EOO0-90-23 

C 
a9992-559 

b) Take away 6 3 0 5 from 72 43=3 

E. Solve the following. 

a) 3569+ 2494 1241 -4635 137 
J2 gt-5000-500U=0 

1855-1020 
Rewmoliyag ehe to ooost 100 
n g-2000-1000-100 

a8 959 

b) 6745+ 3621-9825+ 2626 -316 

I. Do as directed. 

A. Subtract the following numbers. 

2123 09 
a 35 69+249-1241-4525 

63 
-24 9-124 2Y63 

B22184 
46 75+3621-982526-16 

B.Find the difference. 

Th H TO 8 
8 4 9 Ans 
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C. Subtract the following numbers. 

6 8 9 
2580 

D. A cinema hall had 2400 tickets. It sold 1924 tickets. How many tickets are yet to be sold? 

13 q 12 
ANS. Ale.hikot= 

AlB. ticka 2eld= 19 2 

E. Subtract the sum of 6432 and 1572 from the sum of 5468 and 8542 0 1 

The sun el5Y6Bd 2542= 
hel s 6122 aud572- 

lh dhilet}OHLO Mhathu14010-20066006 
The dilnkcoeo lkanln 140D 1 
6006. 

ANS.

END 
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